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M.Com. FIRST SEMESTER (NEP) EXAMINATION, 2023-24

ABST

First Paper

Advanced Cost Accounting (Part-1)

Time Allowed : Three Hours

Maximum Marks : 80

PART-A/ Hkkx&v [Marks : 16]

Answer all eight questions (Maximum 50 words each).

All questions carry equal marks.

lHkh vkB iz'uksa ds mRrj nhft,A izR;sd iz'u dk mRrj 50 'kCnksas ls vf/kd u gksA
 lHkh iz'uksa ds vad leku gSaA

PART-B/ Hkkx&c [Marks : 40]

Answer five questions (Maximum 200 words each),

selecting one from each unit. All questions carry equal marks.

izR;sd bdkbZ ls ,d iz'u pqurs gq,] dqy ik¡p iz'uksa ds mRrj nhft,A izR;sd iz'u dk mRrj 200

'kCnksas ls vf/kd u gksA lHkh iz'uksa ds vad leku gSaA

PART-C/ Hkkx&l         [Marks : 24]

Answer any two questions (Maximum 300 words each).

All questions carry equal marks.

fdUgha nks iz'uksa ds mRrj nhft,A izR;sd iz'u dk mRrj 300 'kCnksas ls vf/kd u gksA
lHkh iz'uksa ds vad leku gSaA
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PART-A/ Hkkx&v

1. Explain the concept of Pareto Analysis. [2]

iSjsVks fo'ys"k.k dh vo/kkj.kk Li"V dhft;sA

2. When Full Cost Pricing is suitable? [2]

iw.kZ ykxr ewY; fu/kkZj.k dc mi;qDr gS\

3. Differentiate between skimming pricing and penetration pricing method. [2]

eUFku ewY; fu/kkZj.k ,oa cs/ku ewY; fu/kkZj.k uhfr esa vUrj Li"V dhft;sA

4. Give formula for profitability in case of limiting factor. [2]

izeq[k dkjd dh n'kk esa ykHknk;drk dk lw= nhft;sA

5. Give four examples of unescapable costs. [2]

cpko v;ksX; ykxrksa ds pkj mnkgj.k nhft,A

6. What do you mean by Cost object? [2]

ykxr y{; ls D;k rkRi;Z gS\

7. What is meant by Activity Based Management? [2]

fØ;k vk/kkfjr izcU/k ls D;k rkRi;Z gS\

8. What is meant by Cost Driver? Write two types of Cost Drivers. [2]

ykxr pkyd ls D;k rkRi;Z gS\ nks izdkj ds ykxr pkydksa ds uke fyf[k;sA

PART-B/ Hkkx&c

Unit-I/bdkbZ&I

1. "Cost influences prices, thought it does not control or regulate it." Keeping this

statement in view, justify the importance of costs in price fixation. [8]

^^ykxr ewY; dks izHkkfor djrh gS fdUrq ;g bls fu;af=r ;k fu;fer ugha djrhA** mi;qZDr dFku

ds lUnHkZ esa ewY; fu/kkZj.k esa ykxr dk egÙo le>kb,A

OR / vFkok

2. What do you mean by price differentials? What are the different bases for price

differentiable? What conditions are necessary for it?
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ewY; foHksn ls vki D;k le>rs gSa\ ewY; foHksn fdu vk/kkjksa ij fd;k tkrk gS\ blds fy, fdu

n'kkvksa dk gksuk vko';d gSA

Unit-II/bdkbZ&II

3. What do you mean by 'Product Mix'? What factors are to be taken into consideration

while choosing the best product mix? [8]

mRikn&feJ.k ls vki D;k le>rs gSa\ mRikn&feJ.k dk p;u djrs le; fdu&fdu rRoksa ij

fopkj fd;k tkrk gS\

OR / vFkok

4. "The higher the contribution per unit of limiting factor, the more profitable is the

product." Explain this statement with the help of an example.

^^izfr bdkbZ lhfer dkjd va'knku ftruk vf/kd gksxk] mruk gh vf/kd ykHknk;d gksxkA** ,d

mnkgj.k }kjk bl dFku dks Li"V dhft,A

Unit-III/bdkbZ&III

5. Write and explain different stages of Activity Based Costing. [8]

fØ;k vk/kkfjr ykxr ys[kkadu ds fofHkUu pj.kksa dks fyf[k;s ,oa mUgsa le>kb;sA

OR / vFkok

6. A company manufacturing two products furnishes the following data for a year :

,d dEiuh us ,d o"kZ ds fy, nks mRiknksa ds fuekZ.k lEcU/kh fuEu lead miyC/k fd;s gSa %

Product Annual Output Total Machine Total No. Total No.

(Units) Hours of  Materials of

Purchase Set-ups

Orders

A 5,000 20,000 160 20

B 60,000 1,20,000 384 44

The annual overheads are as under :

okf"kZd mifjO;; fuEu izdkj gaS %
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Machine volume related activity costs 5,50,000

¼e'khu vkdkj lEcfU/kr fØ;k ykxr½

Machine set-up Related Costs 8,20,000

¼e'khu rS;kjh lEcfU/kr ykxr½

Machine Purchase Related Costs 6,18,000

¼lkexzh Ø; lEcfU/kr ykxr½

You are required to calculate the cost per unit of each product A and B based on :

(i) Traditional Method of charging overheads based on Machine Hour Rate.

(ii) Activity Based Costing Method.

vkidks izR;sd mRikn A rFkk B ds fy, izfr bdkbZ ykxr dh x.kuk fuEu vk/kkj ij djuh gS%

(i) e'khu ?k.Vk nj ds vk/kkj ij mifjO;; yxkus dh ikjEifjd fof/k

(ii) fØ;k vk/kkfjr ykxr fu/kkZj.k fof/k

Unit-IV/bdkbZ&IV

7. Discuss the cost and non-cost factors affecting 'make or buy' decisions. [8]

^cukuk vFkok Ø; djuk* lEcU/kh fu.kZ; dks izHkkfor djus okys ykxr rFkk xSj&ykxr lEcU/kh

rRoksa dk foospu dhft,A

OR / vFkok

8. A limited company manufactures three products and the following information has

been collected from the books of accounts :

,d dEiuh rhu fofHkUu izdkj ds mRiknksa dk fuekZ.k djrh gS rFkk ys[kk iqLrdksa ls fuEufyf[kr

lwpuk izkIr dh xbZ gSa %

Products S T Y

Sales Mix 35% 35% 30%

Selling Price 30 40 20

Variable Cost 15 20 12
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Total Fixed Cost 1,80,000

Total Sales 6,00,000

The company has under discussion a proposal to discontinue the manufacture of

product Y and replace it with product M when the following results are anticipated.

dEiuh Y mRikn dks cUn djus ,oa bls M mRikn ls izfrLFkkfir djus ds izLrko ij fopkj dj

jgh gSa tcfd fuEufyf[kr ifj.kkeksa dh vis{kk dh tkrh gS %

Products S T Y

Sales Mix 50% 25% 25%

Selling Price 30 40 30

Variable Cost 15 20 15

Total Fixed Cost 1,80,000

Total Sales 6,40,000

Will you advise the company to change over to production of 'M'? Give reasons for

your answer.

D;k vki dEiuh dks 'M' ds mRiknu ij ifjorZu dh lykg nsaxs\ vius mRrj ds fy, dkj.k

nhft;sA

Unit-V/bdkbZ&V

9. The following budget has been prepared at 70% production level for the home market.

The possibilities in foreign market are to be explored : [8]

?kjsyw cktkj gsrq 70% mRiknu Lrj ij fuEu ctV cuk;k x;k gSA fons'kh cktkj esa laHkkoukvksa

dks ns[kk tkrk gS %

Units 42,000

Materials 2,10,000

Wages 1,26,000

Overheads : Fixed 70,000
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Variable 21,000

4,27,000

The selling price in India is 15. In the Far-East about 6000 units may be sold only

at 10 and in addition 25 paise per unit will be expended as Freight etc. Do you

advise the trying for market in the Far-East?

Hkkjr esa foØ; ewY; 15 gSA lqnwj&iwoZ esa yxHkx 6000 bdkb;k¡ 10  ek= ij csph tk ldrh

gaS rFkk lkFk gh 25 iSls izfr bdkbZ HkkM+k vkfn ij O;; gksrs gSaA D;k vki lqnwj&iwoZ ds cktkj esa

iz;Ru djus dh lykg nsrs gSa\

OR / vFkok

10. The Jaipur Ltd. presents the following information regarding the two products A

and B :

t;iqj fyfeVsM nks oLrqvksa A rFkk B ds lEcU/k esa fuEu lwpuk,a izLrqr djrs gSa %

Product A Product B

Direct Material  200 p.u.  180 p.u.

Direct Labour (  0.40 per hr.) 150 hrs. p.u. 100 hrs. p.u.

Selling Price  400 p.u.  300 p.u.

Overheads : Fixed  16000 p.u.

                  Variable 100% of Direct Labour

You are required to recommend which of the following sales mix should be adopted:

vkidks lykg nsuh gS fd fuEufyf[kr esa ls dkSu&lk foØ;&feJ.k viukuk pkfg;s %

(i) 100 units of Product A and 200 units of Product B.

(ii) 150 units of Product A and 150 units of Product B.

(iii) 200 units of Product A and 100 units of Product B.

PART-C/ Hkkx&l

1. A manufacturer with an overall (interchangeable among the products) capacity of

one lakh machine hours has been so far producing a standard mix of 15000 units of

product A, 10,000 units of product B and C each. On experience the total expenditure
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exclusive of his fixed charges is found to be 2.09 lakhs and the variable cost ratio

among the product approximates 1 : 1, 5 : 1, 75 respectively per unit. The fixed

charges comes to  2 per unit. When the unit selling price are 6.25 for A ; 7.50

for B and 10.50 for C. He incurs a loss. He desires to change the product mix as

under :          [12]

,d fuekZrk ftldh dqy mRiknu {kerk ¼tks mRiknksa esa vny&cny ;ksX; gS½ 100,000 e'khusa ?kVs

gSa] vc rd mRikn A dh 15000 bdkb;k¡ vkSj mRikn B vkSj C izR;sd dh 10000 bdkb;ksa dk

ekud feJ.k fuekZ.k djrk jgk gSA vuqHko ls ;g ik;k x;k gS fd LFkk;h O;;ksa dks NksM+dj leLr

O;;  2.09 yk[k gS rFkk izfr bdkbZ ifjorZu'khy mRiknu ykxrksa esa 1 : 1, 5 : 1, 75 dk vuqikr

gSA LFkk;h O;;  2 izfr bdkbZ gSA tc izfr bdkbZ fcØh ewY; mRikn A ds fy,  6.25] B ds

fy,  7.50 rFkk C ds fy,  10.50 gks] rks fuekZrk dks gkfu gksrh gSA og mRikn feJ.k dks

fuEu izdkj cnyuk pkgrk gS %

Product Mix 1 Mix 2 Mix 3

A 18000 15000 22000

B 12000 6000 8000

C 7000 13000 8000

As a Cost Accountant, what mix will you recommend?

ykxr ys[kkiky ds :i esa vki fdlh mRikn feJ.k ds i{k esa jk; nsaxs\

2. Multi-products Ltd. has installed plant for producing three product X, Y and Z. Cost

details regarding the three products are as follows :           12]

eYVh&izksMDV~l fyfeVsM us X, Y rFkk Z rhu mRiknksa ds mRiknu gsrq ,d la;a= laLFkkfir fd;k gSA

rhuksa mRiknksa lEcU/kh ykxr fooj.k bl izdkj gSa %

      X        Y       Z

Maximum Capacity 20,000 units 10,000 units 15,000 units

Fixed Cost  2,00,000 1,50,000 1,00,000

Selling price per unit 100 200 50



ABS8002T/150 Page 8 of 8

Cost per unit of Product 'W'

Direct Material Cost @ 5 per kg 5 50 10

Direct Labour Cost @ 10 per hour 30 60 10

Othe variable costs 5 10 5

Determine best product mix in each of the following three independent cases :

fuEufyf[kr izR;sd rhu Lora= n'kkvksa esa loksZÙke mRikn feJ.k dk fu/kkZj.k dhft, %

(a) Total availability of raw material is limited to 1,20,000 kg.

dqy miyC/k dPph lkexzh 1,20,000 fd-xzk- gSA

(b) Supply of labour is limited to 96,000 labour hours.

Je vkiwfrZ 96,000 Je ?kVksa rd lhfer gSA

(c) Total combined sale of three products cannot exceed 31,00,000.

rhuksa mRiknksa dh ,dhd̀r fcØh 31,00,000 ls vf/kd ugha gks ldrh gSA

Show complete working giving total contribution and total profit in each of the

above three cases :

mijksDr rhuksa ifjfLFkfr;ksa esa dqy v'kanku ,oa dqy ykHk n'kkZrs gq, iw.kZ dk;Ziz.kkyh n'kkZb;sA

3. Explain the following pricing strategies :           [12]

ewY; fu/kkZj.k dh fuEu O;wgjpukvksa dks le>kb;s %

(a) Penetrating Pricing Strategy

Hksnu ewY; fu/kkZj.k O;wgjpuk

(b) Skimming Pricing Strategy

eykbZ mrkj ewY; fu/kkZj.k O;wgjpuk

(c) Differential Pricing Strategy

ewY; foHksnu O;wgjpuk

4. What is meant by Activity Based Costing System? Define it and explain its

importance.           [12]

fØ;k vk/kkfjr ykxr js[kkadu i)fr D;k gS\ bls ifjHkkf"kr dhft, rFkk bldk egÙo le>kb,A

----- × -----


